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Answer any five questions..
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1. (a) Distinguish between national income at current

prices and national income at constant prices.

| ®
(b) How is GDP computed using the income -
method ? (10)
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2. How is equilibrium of Gross Domestic Product (GDP)
determined in a four sector economy ? Explain with
the help of Saving-Investment approach. (15)
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3. (a) Following information in the form of equations
about an. economy is given below :

C=120+06Y,
I =150 crores
G = 350 crores
X;M = 250 crores
T=025Y

Find the following :

(1) Equilibrium GDP

{1i) F.o.reign trade mu]tipiicr o {10)

(b) What is balanced budget multiplier ? (5)
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4.  What are the tools used to implement the monetary
policy ? Explain how the tightening of monetary policy
leads to fall in the money stack of the Economy ?

as)

ﬁa_%ﬁm,m%ﬁqwmwﬁq
T ? 7 wme e & g A @ wer ¥ e owex
i & HEr-seR ¥ fivae s @ 0

5. TDerive the 1S and LM curves. How can these be

used to derive the Aggre.gate Demand Curve ?

(15)
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6. Explain the demand for money. Explain how the

rate of interest is determined in the money market.

(15)
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7. {(a) Distinguish between balance of trade and balance
of payments. ' (N

(b) What are Aggregate demand shocks ? How
can they affect GDP and price level in the Short
Run ? _ (%)
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8. Write short notes on any two of the following :
(i) Credit Creation by Commercial Banks
(i) Leakages of Investment Multiplier

P.T.O.
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(iii) Recessionary gap
(iv) Long Run Aggregate supply curve  (7%,7%)
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